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41. A is taller than B. D is shorter;than C
. put taller than E. Only D is between
‘Aand Bin terms of height Who is the
tallest of all? =~~~

() B

R R L35S

ol SN

® C

LA St

I, =

T A m % m

42. A says to B, “I.am tmce as olci as y.‘?.l'

were when 1'was as old as you are”. The
sum of their present ages is 63 years
What is the present age ‘of A? ¥

(A) 45 years ——
(B) 18 years s
(C) 28 years et

(D) 36 yer~=

'43. First of all Ahmad goes 20 metrés to the
north from his place, then he walks
15 metres to his nght Agam he turns
“fo the right and moves 20 'metres.
. Immediately turning to the left he walks
25 metres, How far is. Ahmad now from
g +his starting pomt? b o

(A) 45 metres

Sotieges v —

“{0) 40 mietres )
% sSaetres B

om0 7

A0}

FPRRTEE -“""GEﬁERhL INTELLIGENCE‘ o S

44, Find ‘fhie missing term’ of the following
series : e
DCBA,' ) ZYXW,.. SRQP

t

(A) EHFG A

(B) GFEH T

" 8] POHE TR GERCL
Sy N e e

45. 1f-FACE is'codedas:6135 iand. DEAD
is coded as 4514, t.hcn HIGH wﬂf be

coded as

(A) 8978 | ¥ |
(B) 9887
BB ooy aae i

b Ny lesden T £ i

46. In tms quesuon, a word has been given
followed by four other words, one
‘ of which cannot be formed by using
f75  7the letters ofithe: gwen worﬁ 'Find that -
word : ; b

* | COMMENTATORS

(A) MOMENT

7{(B) :COSMOS . H
(C) ROTATE i
' COMMON z

AR RSP S
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" 247. Asquaresheet of paper has:beertfolded
‘and: punched as shown in the question”
figures. How will 1t look ' like when
unfolded? sl

o+ Quea_tlonF m‘. gt

oy

80y The ‘question “figure is. embedﬂad dn.

S which: of the answer. nguwﬂ Le
Quelﬁon Pigure 1+ * 5. o Fvw

i

“ Answer Figures :

(A) '7-"T' By 2 1 0 s(Epy st w3 (D)

48, Which a.nswerﬁgurc corhpléﬁés the
form given in the question figure?

Question Figure

l—"‘_

it e T

& Fan T o
Answer Figures : A8

e s )r

o« TYB) Pat

@y _ @B €4 O

49, Find the appropriate group of letters to
complete the following sequence,.;

Bibgh 1 bEily

T BHE s
(A) cgbcb

+(B) cgbcc D5 ks

“(C) ghcbb

(D) cbgbe ' YT e

- UAE-2015/1:D

o= ) - at (B B e, g (D)

51, Select the missing word :

AL« Calainm 2 Pulses {2

&

(A) Protein ¢ ; b

. 4(C) Jron.,

(D) Carbohydrate

52. Complete the series of question figures
from the answer figures.

¢ e 3iee ot SO
Question Figures :

0 (m T T ()

Answer Figures :

==

) (B) BB

v v [iPs Tl ;.
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A hawker is in the middle coripattment: o
of an interconnected train with

" .17 bogies. .He -moves 6:-compartments

54.

() All shids are red,

55.

56.

“' class as the'otherfs? & =%

wh_itc. Some clothes are red.”

can be coded as

backward ‘and gets down on the next
station. Now he enters in" the third
compartment next to engine. How many
compartments he is far away from his

original position? (o

A). 5 8 - %% 1)

(B)

58
In this question, a group of statements
is. followed" ‘by " four  alternative
inferences. Select the one which is most
appropriate : : R

“Some clothes are shirts. All shirts are

(B) Some clothes are wane-- ~_
(C) Some shirts are white...
(D) All clothes are red - -

£

If RED is coded as 360, then GREEN

(A) 44110
®)
(©),

(D)

44100 :
44400 o
41400 ... -

‘Which “6ne of the"t"ollow"ing' groups of

letters does not belong to the .same
. 4

(A) KIMP

(B) HEIL

(€) FCGJ- AR

(D) DABE <+ ot e

. JAE20 15/1-D

11

'B7. Insert the missing number ;

3% e ;1 22 “*g L

217
816 e
) 4 ®e="" W

€ 7

58. If A stands for *’, B stands for 4 and”
C stands for %, ‘then what is the
value of (5C4)A(2B3)B6?

: Bofks

Ry

(A) 19 (B) rOr-sg (2

it EnE
(C) 31 (D) 21

59. If 4+’ means ‘greater than’; ‘-’ means
‘smaller than’ and =’ means ‘not greater
than’, then ‘a+ b and b - ¢’ implies that

(/A)G'C+ b? i i ‘.

®) a=0

(Ci;:“a'g-.iic' e

F lng

]

(D) a+c
g TEfly (O
60. If 3=7, 8=12, 9=13; then 7 =7
@ 11
24 o :((B) - 12 % ‘\ 1 heo EI :
T C N O

(D) 10
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69. e # 4 9 v 3 wad e

64. Wt getn 1 Frerfen & 2 P e s

e 1 A 1945 § g a1,

:(6 T (A) STHR ey |
v A (B) v it S o

(€) efern  ficed et A
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A e PR | @ENEWAWARENESS L S BN TR
61. Ma.hatma Gandhi became the President 56. ThHe unit used to measure the’
of Indian National Congress in the year supersonic speed is Sotng
A 1923, . . k4 &1 Aol e
® 1924 (Bi” et s o
(G sdy e~ L (Cl-Richter < C " e
(D) 1922 A R © (D) hertz
62, The creamy layer is assocxated wnt‘h- 67. Blood looks red because of R
; """ A) biosphere ‘ . (A) plasma :
: (B) socio-economic status (B) certain secn‘:tic‘).ﬁ;' =il
~(C) poultry farming e ; (C) red corpuscles 5
(D) . dairy products i (D) hemoglobin

~ 63. The prose versions of Vcda. are called 68. The water that does not produce good

A Sambitas 7 ¢ TRoGERIK N % lather with soap is called i i

(B) Brahmanas A (A). hard water
(C) Aranyakas ; (B) heavy water

(D) Upanishads (C) soft water g i
' (D) - polluted water 4

(£

64. Which of the following national events b :
_of Indian football was started m the 69.. Which among the following bites fastest
year 1945? in the world? i b b Y

(A) Durand Cup - ; (A) African Scorpion
(B) DCM Cup { S (B).. Panamanian Termite
(C) Scissors'Gup | = 4 (C) Australian Squirrel
(D) Santosh Trophy /- - s A (D) : Indian. Cobra SRR
_ +66:<Lal Bahadur: :Shastri: Stadium. wis 70. ‘Golden  Pen. of “Freedom’ "awariiﬁi-.-ia“-g
= situated at : : B associated with . T’
{A) New Delhi (A):. journalism
(B) Hyderabad : S (B) art of cinema
(C) Allahabad - bl (C) sports editorials

(D)’ Kanpur - - Sl - (D) 'literary writing 7" © e

'y
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During Mughal

()" Daroga

(C) Subedar

(D) Kotwal

‘Who among the following was the first
‘Home Minister of India?

(A) Sardar Patel

(B) Babu Jagjivan Ram
(C) Morarji Desai
(D) Govind Ballabh Pant

In Ramayana, Mandavi was the wife of
(A) Bhara.t

(B) Meghnad
(C) Sugreev
(D) Laxman

Which is the oldest Veda?
(A) Rigveda

 (B) Atharvaveda

.

(C) Yajurveda
(D)= Samaveda

Tarla Dalal is a famous
(A) cookery specialist

(B) child psychologist

(C) media manager

' (D) classical dancer

i Penod, in-eharge of
pohca--force was ca]led . .

7.

ey

A

8.

79.

(A) Nine

3 A - = P T

6: Muft; Mohammad Sayeed was sworn in
‘as Chief Minister of Jammu and

‘Kashmir on March 1, 2015 at Zomwar
Stadium, Jammu He is the

(A) 11th Chief Minister of the State_
(B) 12th Chief Minister of the State

(C) 13th Chief Minister of the State
(D) 10th Chief Minister of the State

The Constitution of India was written in :

(A) " more than two years but less than
three years

(B) three years
(C): more than three years

(DY two vears

How many Fundamental Duties are
given in the Indian Constitution?

(B) Ten
(C) Eleven

(D) Eig_ht

‘Shipki La Pass’ is located in ‘which of
the follow:ng Himalayan valleys?

C(A) Nabha valley

80.

(B) Chandra valley
(€) Kullu valley
(D) Sutlej valley

When was Tripura made a full-ﬂcdged
State of India?

' "7{ (A) 1956

) Ak

(B) 1972 -

(D) 1947




